—— A
N = 0] &F AF S & AN A
20198 &= 20 A LB H L JIEISES H HEEAEHIIS
2 048 AEIISY
A GHNMY YHTS
S9l: 4FERBIIE PE YL 0ESANY NY CERED
2 S 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HAEEAEIIS 60,196,576 40,845,548 19,351,028
= 17,778,110
g 7,746,000
Jl 21,499,196
= 13,173,270
AN MBS 10,081,661 8,686,627 1,395,034
= 1,920,386
J| 3,845,394
& 4,315,881
AFERIIB 2 L dsENg X 3,976,175 3,892,682 83,493
= 1,855,518
J| 123,855
o 1,996,802
HAEIIEAEM =X 127,547 129, 326 A1,779
201 et | 32,900 32,900 0
01 AR 22l ] 32,900 32,900 0
OWHEII=EEM 29 32,900
202 04| 8,000 8,000 0
01 2L HI 8,000 8,000 0
OWHdIIEEM &5 A 8,000
203 € R =& 15,000 0 15,000
03 AIEH =X H 2 F XY 15,000 0 15,000
OHEAEAYE AIHATR =X 15,000
301 et A= 3,717 10,496 NB,779
B AISI=SRILZ A= 3,717 10,496 NB,779
OANZERRIABAZ 3,717
308 XX EHSOIA 67,930 77,930 A 10,000
01 AIXISHHEMNEXZ 67,930 77,930 A 10,000
OLdL2II=ENNANE 2= K& 67,930
St=0d 4 29 1,000,000 900,000 100,000
306 52 1,000,000 900,000 100,000
o1 s2 1,000,000 900,000 100,000
OMHEOol s=20d8d 229 1,000,000
SI2HAELBIAANE B 22,000 0 22,000
403 XX S S K201 H 22,000 0 22,000
02 Z2I)|2S0 st E& 2 E A HI 22,000 0 22,000
OSt=0HAEL+EHIAANEEZL L SHUS ALY 22,000
MYHEH XNESY(2D)(XE) 10,000 10,000 0
= 5,000
& 5,000
307 2iz2to| A 10,000 10,000 0




D HAEEAEIIED
T 01/\47:4;‘:“;% oF A I

i~}

MY . B (3H) - NEAY - BAS ofl &t o SSa HDE2
= 5,000
== 5,000
11 M SAAE E 10,000 10,000 0
OHEBMIHE 2HXA 10,000
= 5,000
= 5,000
MM NESA(=1) 2,027,949 2,088,742 AB60,793
= 1,850,518
== 177,431
308 XX SHHSOIH 2,027,949 2,088,742 AB60,793
= 1,850,518
& 177,431
01 AIXHMBAEXZ 2,027,949 2,088,742 A 60,793
OMIHAE K 569,520
= 542,400
< 27,120
OXGN=EEH T ) 2H 556,562
= 556,562
OMIHEH 29 K& 901,867
= 751,556
== 150,311
HEUEWAFNSIXN(Z22D) 123,855 122,730 1,125
Dl 123,855
308 AXISHXSO0IH 123,855 122,730 1,125
J| 123,855
01 AXHNNBMNEXTZ 123,855 122,730 1,125
OFdHEHENHSLE FIXNA 123,855
Dl 123,855
gdolgjgdy 29 516,000 376,000 140,000
307 QI2t01 ™ 516,000 376,000 140,000
10 Al SEXAIEEE2IHIEX 376,000 376,000 0
OWAHEQEINEME 2 376,000
11T A SXAIE EX 140,000 0 140,000
OWHEQEINEHME JsE2 140,000
AMSIEXAIE 29 F& 148,824 113,184 35,640
307 QI2t0| & 34,560 25,200 9,360
11 AMISAAEE X 34,560 25,200 9,360
OZEH2 A EXAIE SALN EXE 34,560
308 XX SHAMSO0IA 114,264 87,984 26,280
01 HXHHIMNEXS 114,264 87,984 26,280
OAl - 2 MISXAE SAN SXxE 114,264
A2 AISIEN =0 L g d 273,260 251,827 21,433
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S RV E-E-PNEDL
HE: GEFMY Y

S g ARE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OANEFz 2HdESF2 JI8dA X & 3,000
307 21201 A 60,000 40,000 20,000
11T MISAASEX 60,000 40,000 20,000
OANEFZ 2H4BSF2 J|8dA X & 60,000
OEASENH K& 50,000 50,000 0
307 21201 A 50,000 50,000 0
02 UAFAAFEX 10,000 10,000 0
OLAOIE =MMH AHDT 10,000
03 BIAHMNHE2IHIEE 40,000 40,000 0
OZAEHAECHMEds 2 XA 40,000
HeoASS 2L ol 5,832,226 4,542,118 1,290, 108
= 64,868
J| 3,721,539
< 2,045,819
M SX2 SAX M =2 XA 72,000 0 72,000
307 21201 A 72,000 0 72,000
11T MISRASEX 72,000 0 72,000
OAMA=SXINZ SAL HRME =X 72,000
ZJOHOISHAE 4 AWNE ATAE2I(=1) 40,000 40,000 0
= 20,000
< 20,000
307 21201 A 40,000 40,000 0
= 20,000
< 20,000
11 AL SXAEE = 40,000 40,000 0
OFMOtsEAYE & AN=E 40,000
= 20,000
< 20,000
FHOote A28 oigus NSXAINS NA(=22) 79,616 79,616 0
= 39,808
< 39,808
307 glz2tol & 79,616 79,616 0
= 39,808
< 39,808
11T M SRASEEX 79,616 79,616 0
OOl 428 oegdns XNGXAIJ2 X2 79,616
= 39,808
< 39,808
oot JHEEY dgns 2Z(21) 5,060 0 5,060
= 5,060
307 21201 A 5,060 0 5,060
= 5,060




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
11 AISI S XA E = 5,060 0 5,060
OOt NE=H MPus 29 5,060
= 5,060
=g 2150E 12,680 16,680 24,000
201 L2l 1,700 1,700 0
01 At 22l 1,700 1,700 0
OEAASTANE SAuE 29 1,700
301 L2 A3 10,980 10,980 0
09 SAEHIE &S 10,980 10,980 0
OWHEAUSTANE SANLE 29 3,100
OttdlAE e 29 7,880
SOHOHTIGHAE XIRAIE L AEA 29(=212) 209,294 204,642 4,652
| 153,910
< 55,384
308 XXl EHSO0IA 209,294 204,642 4,652
| 153,910
< 55,384
01 IXNSHHEBANEES 209,294 204,642 4,652
OHSDHOHIIGH Rt XI&AAIE 29 91,672
| 75,495
< 16,177
O&0HOHIIGH &4EA 29 117,622
| 78,415
< 39,207
SOHORTIAH A R XA (=1) 19,428 19,428 0
| 16,000
= 3,428
308 AXIEtH S0l A 19,428 19,428 0
| 16,000
< 3,428
01 IXNSHHBANEES 19,428 19,428 0
O&DOHOHIIoH At =X 19,428
| 16,000
< 3,428
SOHOHTIGH A X&AJ2 JsES(=1) 6,522 6,109 413
J| 4,348
< 2,174
403 UtXISHH S X201 & 6,522 6,109 413
J| 4,348
< 2,174
01 XXM A=2E = 6,522 6,109 413
OXOHOHOIGHA XI&AIE JIsEL 6,522
| 4,348
< 2,174




FMN HEFEAEIIID
M AR A

Sl OHoIABE U o (S &2)
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET

OH2283 13668EH 2 XA (=1D) 568,822 476,230 92,592
J| 284,411
< 284,411

307 gl2tol & 568,822 476,230 92,592
J| 284,411
< 284,411

AR S XA E X 568,822 476,230 92,592
oOu42=a3st 1366 2L X 568,822
J| 284,411
< 284,411

He2i2dst 13668 H 22 XNADIsEZ)(=1) 8,000 8,000 0
J| 4,000
< 4,000

402 RIZEX20l A 8,000 8,000 0
J| 4,000
< 4,000

02 U2 TEALEZ(0IETHR) 8,000 8,000 0
O04g2IZXst 136648 H 2LRNA(IISEL) 8,000
J| 4,000
< 4,000

HE=" 2g M8 AL ExDF(22)(HE) 3,480 3,480 0
J| 1,740
< 1,740

307 21201 A 3,480 3,480 0
J| 1,740
= 1,740

11T AL S XA E = 3,480 3,480 0
OAE=ZEY Z2HANLE SM E=U=SE 3,480
J| 1,740
< 1,740

OIEZY B AlE BAX 22DS(2D) 12,390 12,390 0
Jl 8,260
< 4,130

308 X EHSOIA 12,390 12,390 0
J| 8,260
< 4,130

01 HIXNHHBMNEES 12,390 12,390 0
OWEEY Z2HANE SAX EL= 12,390
J| 8,260
< 4,130

ZAWHOE FHIY 2SN (2D) 32,296 26,698 5,598
J| 27,208
< 5,088

308 XXIEHH SOl A 32,296 26,698 5,598
J| 27,208
< 5,088




SN - AEHIISY
B O 4EUY SHBS
R (EABES & ol (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AIKSHMEAMNEX= 32,296 26,698 5,598
OZIHHE =HXE 2HIA 28,833
J| 23,745
o= 5,088
OZIHHAE =TAHANE dHESZ2 3,463
J| 3,463
JIEZA IIolK ESAIE 29 XK (=21D) 549,293 506, 160 43,133
J| 457,539
== 91,754
308 AXIEHSOIA 549,293 506, 160 43,133
J| 457,539
= 91,754
01 AIXSHMEAMNEX= 549,293 506, 160 43,133
OJFE =Tl XA} ESAE 249 & 512,048
J| 421,689
= 90,359
OJWNE =1l A ESAIE H =2 MHY| 25,000
J| 25,000
OJIEZ4 Nk 2EgEad N 12,245
J| 10,850
& 1,395
IIYEe MR BSAA 2% NF(JIS2L) (2D 18,750 9,450 9,300
)
Jl 12,500
= 6,250
403 XX SHH S X201 A 18,750 9,450 9,300
J| 12,500
o= 6,250
01 XS A2E X 18,750 9,450 9,300
OJE=Z™ Mol ESAE 29 X 18,750
J| 12,500
& 6,250
=Y Ags 2EXA(2D) 900,362 576,213 324, 149
J| 600,245
& 300,117
308 XHXIEHH SO0l & 900,362 576,213 324,149
J| 600,245
& 300,117
01 AIKISHHEMNEXZ 900,362 576,213 324,149
OJIEZHMNEA 2 900,362
J| 600,245
= 300, 117
IIEZS QoA X232 Tz L o2 AIR( 147,346 151,603 N4 257
=2)
J| 130,560
& 16,786




2N
X ZH -
L= B
el

(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

308 XHXIEHSO|A 147,346 146,603 743
J| 130,560
& 16,786

01 AIXSHMEMNEX= 147,346 146,603 743
OJJIEZ4d Mol A XIzd=s 2208 | 118,500
J| 105,000
=} 13,500
OJIEZd HoHX 2=Hl K& 28,846
J| 25,560
& 3,286

JIEZS JiohAt wEXIZ2EZ2] 29 (=21) 53,569 53,852 A 283
9] 47,466
= 6,103

308 AHXIEHSOIA 53,569 53,852 A 283
J| 47,466
= 6,103

01 AIXSHMENEX= 53,569 53,852 A 283
OJIEZ4 JlofAt REXsZ2)H 53,569
J| 47,466
= 6,103

ZANHOITHAEABSAIER2IGXRA(=Z21) 134,259 130,258 4,001
J| 110,566
= 23,693

308 XHXIEHH S0l & 134,259 130,258 4,001
J| 110,566
= 23,693

01 AIKISHHENEXZ 134,259 130,258 4,001
OZ=Ilol 0IFF0H ESAIE 2SN A 134,259
Dl 110,566
o= 23,693

ZANMNOITHAEAESALE tEE2A(Z2D) 5,100 0 5,100
J| 4,200
= 900

403 XX SRS K 20| & 5,100 0 5,100
J| 4,200
= 900

01 XS HXNE2EE X 5,100 0 5,100
OZ&I0dH 0IF0HH ESAIE otdgz 2 5,100
J| 4,200
& 900

oldietd|dE 2 XR(=D) 1,852,063 1,195,985 656,078
J| 1,296,444
= 555,619

307 2Iz2to| A 1,852,063 1,195,985 656,078
J| 1,296,444
o= 555,619




FMN HEFEAEIIID
M AR A

Sl OHoIABE U o (S &2)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2

M ASIMNSEX 1,852,063 1,195,985 656,078
OdfittetIldE 2SN 1,852,063
Jl 1,296,444
< 555,619

oibtetdldH JIsE2d K& 30,398 30,790 A 392
Jl 15,199
= 15,199

402 QI2tXt= 01 ™ 30,398 30,790 A 392
Jl 15,199
= 15,199

02 Q=ML EE(0IATHE) 30,398 30,790 A 392
OdfigtetIldE JIsE22 K& 30,398
Il 15,199
= 15,199

SEALHN 2SAE 2YXA(2D) 134,535 102,555 31,980
Jl 111,535
< 23,000

308 Xt &M S 01 A 134,535 102,555 31,980
Jl 111,535
S 23,000

01 XM ZBEEES 134,535 102,555 31,980
O&d=2Iloli Xt ESAIE 28 K& 130,335
Jl 107,335
= 23,000
Od=Z4IoHAt ESAlE H==2X AU 4,200
2l 4,200

S5 - 0IEEY 48 2ENA(2D) 322,540 283,538 39,002
Jl 215,026
S 107,514

308 XXM S0l ™ 322,540 283,538 39,002
Jl 215,026
S 107,514

01 X EHHBLEES 322,540 283,538 39,002
Od=9 - JtEEE 4584 232 322,540
Jl 215,026
= 107,514

HSEANHL 2 - sl=2x2024(22) 45,326 42,434 2,892
Il 40,040
= 5,286

308 XXM SO0I™ 45,326 42,434 2,892
Il 40,040
< 5,286

01 XM BadE2ES 45,326 42,434 2,892
Ood=Z=g0loiit XIg - 3lsZ2 0 45,326
Jl 40,040
S 5,286




FMN HEFEAEIIID
M AR A

dH =
Sl OHoIABE U o (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AZATIGHA 2=l - 20EH X (212) 49,325 54,806 A5,481
J| 43,706
< 5,619
308 AHAIEHHSOIA 49,325 54,806 A5,481
J| 43,706
< 5,619
01 HIXNHHNBHELS 49,325 54,806 A5,481
od=ZdIlci it 2zl - 2r8Hl N& 49,325
J| 43,706
< 5,619
dZ AL G244 - S80S - 2UHUE N3 (2 194,623 133,730 60,893
(=)
J| 136,236
< 58,387
307 21201 A 194,623 133,730 60,893
J| 136,236
< 58,387
11 ALS S XALEE = 194,623 133,730 60,893
OSZAMMNI Y2 - SZHIE - 2|
A& 194,623
J| 136,236
= 58,387
SEZYNIcHA d24E - SsHE - 2UHE (= 400 400 0
2)
J| 400
308 XXM SO0 A 400 400 0
J| 400
01 IXNHHBNEES 400 400 0
ONZAMMA Y2AL - SSHIE - 20Ul
A& 400
J| 400
HdAASTANE 2 T2 143,189 50,347 92,842
308 XX EHHSOIA 143,189 50,347 92,842
01 HIXNHHNBMNEES 143,189 50,347 92,842
ONEAHAUBIAILE 2F XA (X)) 143,189
HAASTAE 2g N (AMI(2E) 92,560 0 92,560
307 glz2+ol & 92,560 0 92,560
10 ALSISEXAIEEE2GHEX 92,560 0 92,560
OWAHASEAE 2 XA (XAHM)(HE 92,560
A=g0icf /010t8 22X (MH)(EE) 20,000 20,000 0
307 21201 A 20,000 0 20,000
11T MISXASEEX 20,000 0 20,000
Od=ZTal /AJIHE 2ASXA(KHH) (YY) 20,000




3 N YNTS
Sl MoIAEE U oY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Od=Z=Tlol 2210td 22 X2 (XAl 12,000 0 12,000
308 AHAIEHHSOIA 12,000 0 12,000
01 HXNHHBHELS 12,000 0 12,000
oM =ZHulcl IS 22X A (XA 12,000
e ot I 2ot S8 AMHla 293 50,000 40,000 10,000
307 glz2tol & 50,000 40,000 10,000
11T M SXAISE EX 50,000 40,000 10,000
O I sHAMHIA 50,000
d XA 2o S HeLdns 7,000 4,000 3,000
201 Let24E] 7,000 4,000 3,000
01 At 22l 7,000 4,000 3,000
O XA 2Fo & Hgns 7,000
Ch2st 2208 X 31,707,050 18,369,014 13,338,036
=2 15,245,524
J| 12,185,981
< 4,275,545
AEIE 23 =4 31,707,050 18,369,014 13,338,036
= 15,245,524
J| 12,185,981
< 4,275,545
Ct2sttEX | AdlA =& 6,500 6,500 0
202 44l 6,500 6,500 0
01 SLHOIYI 6,500 6,500 0
OZE0l2XINHE K F& 6,500
Ct2st & 220t UWERZA += 3,100 3,100 0
201 Let249H] 3,100 3,100 0
01 At 22l 3,100 3,100 0
ottest & A2 XN HER3a 5 299 3,100
ZEE A=eF0 2 O20E NE g2 29 6,000 6,000 0
201 ¢4l 6,000 6,000 0
01 At 2t 2l 6,000 6,000 0
OZRE 2AF=0 L U2NEXNE A3 6,000
ChE3ots Agolgt =4 140,000 30,000 110,000
307 21201 A 140,000 30,000 110,000
11T MISRASEX 140,000 30,000 110,000
OZE0I2A HY W= 40,000
OZE0I2X 2EFIA = 100,000
MIHQIel S DI & & At 35,000 35,000 0
307 glz2tol & 26,900 35,000 A 8,100




=3t AZtE XA
AFINE 28 =4 (sl &2)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
11T M SRASE EX 26,900 35,000 A8,100
OANH AL IS A 26,900
308 XtXIEHH SOl A 8,100 0 8,100
01 AXHHBILEES 8,100 0 8,100
OMAHI2E JIEH A &It 8,100
G223t MeSE A& 125,108 199,088 AT73,980
201 et 1,000 1,000 0
01 At 22l 1,000 1,000 0
OU=Z2sIIE IUREXN EL 2 1,000
301 LEtE A= 18,000 15,000 3,000
09 HALAHIEA S 18,000 15,000 3,000
OU=aIN=E =UHREXN 2 29 18,000
308 X XIEHHSOIA 106,108 73,088 33,020
01 X HHILEES 106,108 73,088 33,020
Ost=2srsAl XN&E 71,108
OUt2sits g o 20,000
ott=zsits g&t 24 5,000
OobU=2stE 2ILE MY 10,000
ZRAZONERNNE HEHH 29 135,400 130,000 5,400
307 glz2tol & 135,400 100,000 35,400
11T M Z2XAISE EX 135,400 100,000 35,400
OZAELUIEINEXNH HEHH 29 130,000
OLAZLUEZNEXNE AZBHEH SAL H2
HE =4 5,400
AL EUISIIEXNJAEEH 293 161,270 151,270 10,000
308 XXM SOIA 151,270 151,270 0
01 AXHHIYEES 151,270 151,270 0
OANLINFUSSHINEXNEME S (XHAl) 151,270
403 UM EX201H 10,000 0 10,000
01 X EHHMA=2LE L 10,000 0 10,000
OHAINFUZaIIEXNALEH JIs2 10,000
O23ts Y2 UdsATA HMHA 60,000 0 60,000
308 XX EHHSOIA 60,000 0 60,000
01 HIXNHHBMNEELS 60,000 0 60,000
OCtzs Y2XNEAL HRMH 60,000
HAS 2205 Maotd X3 530,900 530,900 0
308 XXM SOl A 530,900 530,900 0
01 IXNHHBAMNEES 530,900 530,900 0




FMN HEFEAEIIID
M O23 ALt N&
& HAEIE 23 =4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMAS S22I1E Maoty X& 530,900
SFRELIIENE Wsdl K& 76,000 76,000 0
308 XXM SOl A 76,000 76,000 0
01 IXNHHBNEES 76,000 76,000 0
OstREL2I=EXH w=sd X& 76,000
Z2EE = 2435 8,000 8,000 0
201 Let24d] 8,000 8,000 0
01 At 2teltl 8,000 8,000 0
OZRAZ JI=EZ3s 435 XA 8,000
HZet IIEE23 o ALY 5,000 5,000 0
308 MtXIEHMSOIH 5,000 5,000 0
01 HXNHHNBHELS 5,000 5,000 0
OAYs IHEE3 &t ALY 5,000
IIEHE=EEE 30,000 0 30,000
308 XX EHH SOl A 30,000 0 30,000
01 HIXNHHBNEES 30,000 0 30,000
OJNE=HSEZ MY 30,000
A20E 2 O23ItE XddE 29(=22)(HE 41,000 38,350 2,650
J| 20,500
< 20,500
307 21201 A 41,000 38,350 2,650
J| 20,500
< 20,500
11T MISRASEEX 41,000 38,350 2,650
OLAZLENEXNE HEHH 29 41,000
J| 20,500
< 20,500
22018 o URsis NME 29(=21) 2,020,560 2,375,536 A 354,976
J| 1,683,800
< 336,760
308 MXIEHMSOIH 2,020,560 2,375,536 A 354,976
J| 1,683,800
< 336,760
01 HXNHHBHELS 2,020,560 2,375,536 A 354,976
OAHAINE - UIZaIIEXNJEEH 29 2,020,560
J| 1,683,800
< 336,760
Ct2s SstAlg(=2) 2,394,507 2,095,225 299,282
J| 2,232,423
= 162,084
308 XXM SO A 2,394,507 2,095,225 299,282
J| 2,232,423




A OSHAHEINEDY
dM: =23 2208 XA
S AWINY 23 X4 (25 & @)
SN HH-S(BN) - MBAY - B il HlnE2
< 162,084
01 IXNHHBNEES ,394,507 2,095,225 299,282
OU=23IIE Y2uSsSXNEA XS 865,405
J| 797,083
< 68,322
OCZ3ItE Atcll2tel At XI& 62,223
| 62,223
OZE0I2A SHIAXHAA XA 589,793
J| 543,228
< 46,565
OUZIaI=E AHEERZ AL XA 419,292
| 386,190
< 33,102
OUISIE OIsHHZ AL XA 178,540
J| 164,445
< 14,095
Ost=0u=sas 228 279,254
| 279,254
OlolEs HEJIE 2Z(21)(HH) 167,636 162,133 5,503
= 117,345
< 50,291
307 glz2tol & 167,636 162,133 5,503
= 117,345
< 50,291
11 AISI S XA E = 167,636 162,133 5,503
ootolss HEIIZA &g 167,636
= 117,345
< 50,291
OlolEes XAAS (=) ,224,688 6,037,830 10,186,858
= ,943,799
< ,280,889
308 XXM S0l A ,224,688 6,037,830 10,186,858
= ,943,799
< ,280,889
01 IXNHHBAMNEES ,224,688 6,037,830 10, 186,858
Ootolss KA ,224,688
= ,943,799
< ,280,889
o - SIIItE XA (2D) 221,256 267,577 146,321
= 184,380
= 36,876
308 XtXI &AM S0 & 221,256 267,577 46,321
= 184,380
= 36,876
01 HXNHHNBHELS 221,256 267,577 AN 46,321
OFHY - 2010t5 XA 221,256




2 048 AEIISY
M 23 HA2I0HE N
e AFIE 23 =4 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 187,380
& 36,876
2=ES0UsH 29(21) 254,640 182,400 72,240
J| 212,200
= 42,440
308 XAHXIEHSOIA 254,640 182,400 72,240
J| 212,200
[ 42,440
01 AIXSHMEMNEX= 254,640 182,400 72,240
0Z2s=s0lUsH 29 254,640
J| 212,200
=} 42,440
022 - B HEIIZ2 29(=21) 50,470 50,000 470
J| 25,235
= 25,235
307 giztol A 50,470 50,000 470
J| 25,235
= 25,235
11T A EXAIEEX 50,470 50,000 470
onE -8X HEIIS 29 50,470
J| 25,235
= 25,235
St = Ot FSH S XN (=21D) 8,770,058 3,863,250 4,906,808
J| 7,795,607
o= 974,451
308 XtXI &AM S0 & 8,770,058 3,863,250 4,906,808
J| 7,795,607
o= 974,451
01 AIXSHMENEXZ 8,770,058 3,863,250 4,906,808
OStER2IIE Ols¥=sH S X 8,770,058
J| 7,795,607
& 974,451
HAESEE XK (=1D) 177,037 66,375 110,662
J| 157,366
& 19,671
308 XHXIEH SOl A 177,037 66,375 110,662
J| 157,366
& 19,671
01 AIXISHHEMNEX= 177,037 66,375 110,662
OFAESERD XNE XS 177,037
J| 157,366
o= 19,671
SIERIIEEIAAE XA (=Z1D) 62,920 0 62,920
J| 58,850
= 4,070
308 NXICSHHMSOIA 50,200 0 50,200
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o4
3 o
Fal

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
Pl 48,250
& 1,950
01 AIKISHEMNEXZ 50,200 0 50,200
OStRER2IIES=XNAIE ME - XE K& 11,700
J| 9,750
= 1,950
OStER2IIE HY A= =HXSH 38,500
J| 38,500
403 XX SHHS K20 & 12,720 0 12,720
J| 10,600
= 2,120
01 XIS A=Z2E X 12,720 0 12,720
OstERII=E==2IAE Js2Y 12,720
J| 10,600
o= 2,120
Ol & EAYE &4 18,366,297 13,751,633 4,614,664
= 612,200
= 7,746,000
J| 5,467,821
= 4,540,276
HAUE 24 Z2)H 29 2,928,646 2,552,421 376,225
= 594,200
J| 609, 104
= 1,725,342
HAaWsyd AdBHL2 A 22,700 22,700 0
201 et | 13,700 13,700 0
01 AP 22| d| 13,700 13,700 0
CE-PNEEFREIC-E RS 3,700
OXNHAHS HAUE Al&A! 10,000
202 o4l 9,000 9,000 0
01 2Ll 9,000 9,000 0
OFAUSY Yoe 23 9,000
HAYW AT B3 180,000 30,000 150,000
307 QI2t0| ™ 180,000 30,000 150,000
04 CIZ2tSHAPALS B X 180,000 30,000 150,000
OFAHE 2350z HAEY 21,000
OEdAWT - HlE2U3 M= 150,000
OFAEZAAAKN 9,000
HAad AL 29 450,000 720,000 A 270,000
307 212t0| & 350,000 720,000 A 370,000
05 QIZ2tE 2 350,000 320,000 30,000
OLJIEHAEUSLHD AER2Y 350,000
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g 0
el

HAHAEINFD
W N HAd SA

Sid /oS

Al |4 D208 29

(=]

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

ANAHAEEHWI 2 2E(=21) 25,200 25,200 0
J| 25,200

308 AHAIEHHSOIA 25,200 25,200 0
J| 25,200

01 HXNHHBHELS 25,200 25,200 0
OXNGHEAHENHIF 29 25,200
J| 25,200

AL ST EMH Js2ds(=2) 633,667 626,333 7,334
= 190,100
< 443,567

307 glz2+ol & 633,667 626,333 7,334
= 190,100
< 443,567

10 ALSISXAIEEE2EH EX 633,667 626,333 7,334
OXNLgEA~UESUEHH 29 633,667
= 190,100
< 443,567

ZT4UAL Z20Y 26(2D) 22,800 25,000 ~2,200
J| 22,800

308 XtXIEHH SOl A 22,800 25,000 A 2,200
J| 22,800

01 X HHILEES 22,800 25,000 A 2,200
OSE&EAE A 4d T2 29 22,800
J| 22,800

HAEXSZAN BIXIXI&A(=22) 524,104 462,738 61,366
J| 524,104

308 A EHHSOIA 524,104 462,738 61,366
J| 524,104

01 HXNHHNBMNELS 524,104 462,738 61,366
OZS3+8AE FAEUXZ A BIXI 524,104
J| 524,104

FArHNSE0Y X2 (=2) 107,625 111,000 A 3,375
= 86,100
< 21,525

308 XXM SOIA 107,625 111,000 N 3,375
= 86,100
< 21,525

01 IXNHHBNEES 107,625 111,000 A 3,375
oOF¥FAxYE H=SE0E XN& 107,625
= 86,100
< 21,525

yausotel N (2D) 98,750 98,750 0
= 79,000
< 19,750
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L= B

el

HEFEAEIFD
a2l 85 HAd S4

st d J/o
Fad 84 Z208 24

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 98,750 98,750 0
= 79,000
< 19,750
01 HIXNHHBHNEELES 98,750 98,750 0
odAE Sotel K& 98,750
= 79,000
< 19,750
HAE A2 XA (21) 286,800 97,200 189,600
= 239,000
< 47,800
308 XXM SO A 286,800 97,200 189,600
= 239,000
< 47,800
01 AXHHBILEES 286,800 97,200 189,600
O&FAHE ALXNEA 286,800
= 239,000
< 47,800
dad soielas XN 75,000 0 75,000
308 XtXIEHHSOIA 75,000 0 75,000
01 HXNHHNBHELS 75,000 0 75,000
o¥adsOlel2s XA 75,000
o £ DY 23 20,000 0 20,000
308 A EHSOIA 20,000 0 20,000
01 HXNHHNBHNEELS 20,000 0 20,000
oy ££ I 24H 20,000
HAHE MZESHS 2 EY 150,000 0 150,000
307 glz2+ol & 150,000 0 150,000
04 RIZFHALAIH E = 150,000 0 150,000
OFAEDMZ Bt 2 Y 150,000
HAEES ¥ HdE 23 6,817,651 5,662,212 1,155,439
= 18,000
J| 4,858,717
< 1,940,934
Al HdE BS 20,000 20,000 0
201 et 20,000 20,000 0
01 At 22l 20,000 20,000 0
OYHET SADEAUHY NS 29 20,000
StunEy g T2 2 (=21)(2E) 60,520 58,314 2,206
J| 60,520
307 21201 A 60,520 58,314 2,206
J| 60,520




FMN HEFEAEIIID
u: Ol HE HAE B4
o HAUES @ WM 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T M SRASE EX 60,520 58,314 2,206
OsH=Es Mgzl 29 60,520
J| 60,520
StuE (gZ28 29(=1) 81,000 65,964 15,036
J| 81,000
308 XXM SOIA 81,000 65,964 15,036
J| 81,000
01 IXNHHMBANEES 81,000 65,964 15,036
Oostu=Ed egzz1d 299 81,000
J| 81,000
Fagag=sEide X 439,200 394,000 45,200
307 21201 A 439,200 394,000 45,200
10 M2 SXNANEHE2IHEX 350,000 330,000 20,000
Ok FAUGME=XNEH 2E9X& 350,000
11T MISXASEX 89,200 64,000 25,200
O FAUNEEXEH AFEX R 64,000
T HEAUNGEEXNLEH SAL EX+E 25,200
FAESEL Z208 29(=1)(2E) 197,870 193,588 4,282
J| 98,935
< 98,935
307 gl2tol & 197,870 193,588 4,282
J| 98,935
< 98,935
11T M SXALSE EX 197,870 193,588 4,282
OFAYE SEHA 2208 29 197,870
J| 98,935
= 98,935
HAGUSEL Z208 29(=1) 332,495 266,704 65,791
J| 332,495
308 XHXI EHX SOl & 332,495 266,704 65,791
J| 332,495
01 IXNHHBNEES 332,495 266,704 65,791
O&HAY SEA 208 29 332,495
J| 332,495
NAME HAEHSES]XNMA 2S5 (22)(HE) 386,400 383,000 3,400
J| 193,200
< 193,200
307 21201 A 386,400 383,000 3,400
J| 193,200
< 193,200
11T AR S XA E =X 386,400 383,000 3,400
OXGAE BAESENIAMA 2= 386,400
J| 193,200




2N
X ZH -
L= B
el

GESESERS DL
Ol &5 a8 IS4
FAHES ¥ dE &5

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| < 193,200
KNAME HAHSE XA 2= (=21) 577,860 461,500 116,360
J| 577,860
308 AHAIEHHSOIA 577,860 461,500 116,360
J| 577,860
01 HIXNHHNBHEES 577,860 461,500 116,360
OXZAte EAHSEXNFHMA *= 577,860
J| 577,860
Hiday 2GANJA(=2)(HE) 1,532,118 1,152,250 379,868
J| 766,059
< 766,059
307 glz2tol & 1,532,118 1,152,250 379,868
J| 766,059
< 766,059
10 AL SXAIEEE2EHEX 1,532,118 1,152,250 379,868
o&dAUEEYH 2IEXNE 1,532,118
J| 766,059
< 766,059
HAUEH 229X (21) 148,712 0 148,712
J| 148,712
307 21201 A 148,712 0 148,712
J| 148,712
MIISXANLEHE2IHEER 148,712 0 148,712
OFAEUEH2EXNE 148,712
J| 148,712
HAHEH 29N (HY) 52,800 41,000 11,800
307 gl2tol & 52,800 41,000 11,800
11T M SRASE EX 52,800 41,000 11,800
OFALHEEH SAX ASISEXxE 52,800
dAUES L HE S 20,000 0 20,000
403 XM S =0l & 20,000 0 20,000
01 X SHMA=2E X 20,000 0 20,000
OZEA I HAEEH JIsEZ K& 20,000
HAHL2HH 22 (20)(2A) 301,172 296, 136 5,036
J| 150,586
< 150,586
307 21201 A 301,172 296, 136 5,036
J| 150,586
< 150,586
11T M3 SXAISEEX 301,172 296, 136 5,036
OHALAUHESEH 23 301,172
J| 150,586
= 150,586




SA AU
Mo Ol 8E HA
|

ME Had 54
o HAUES @ WM 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

HAEHISME 29(=21) 150,586 148,068 2,518
J| 150,586

308 AHAIEHHSOIA 150,586 148,068 2,518
J| 150,586

01 HXNHHBHELS 150,586 148,068 2,518
OFAULZSEH 29 150,586
J| 150,586

HAdAgNSotd0l 2 (=21)(HE) 224,088 212,438 11,650
J| 112,044
= 112,044

307 glz2+ol & 224,088 212,438 11,650
J| 112,044
< 112,044

11T MIEXAIS EX 224,088 212,438 11,650
oY Zu=ot3tdiol 29 224,088
J| 112,044
< 112,044

HAESDSOIE0 2Y (2 D) 1,273,402 1,023,450 249,952
J| 1,273,402

308 XtXIEHH SOl A 1,273,402 1,023,450 249,952
J| 1,273,402

01 X HHILEES 1,273,402 1,023,450 249,952
OoFEAaY Zu=ot7tdlol 299 1,273,402
J| 1,273,402

HAERMHEE ZAIE NA(=1D) 36,000 37,000 A 1,000
= 18,000
< 18,000

307 gl2tol & 36,000 37,000 A 1,000
= 18,000
< 18,000

11 ALS S XALEE = 36,000 37,000 A 1,000
OFAERNEZ A X 36,000
= 18,000
< 18,000

st 8t HAE NJ(20)(2F) 233,700 227,000 6,700
J| 163,590
< 70,110

307 glz2tol & 233,700 227,000 6,700
J| 163,590
< 70,110

11T MISRASEX 233,700 227,000 6,700
Ostw & 4@ X2 233,700
J| 163,590
< 70,110




SA AU
Mo Ol 8E HA
|

NE Had sS4
CHel: HAUES & M 25 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

stw & HAid X (=1) 694,848 613,200 81,648
| 694,848

308 XXX SO0 A 694,848 613,200 81,648
J| 694,848

01 AXSHBAELS 694,848 613,200 81,648
Ostw & A4 XA 694,848
| 694,848

Hiod s8EX(21) 54,880 68,600 A13,720
| 54,880

308 XXM S0 A 54,880 68,600 A13,720
| 54,880

01 AXNSHHBLEES 54,880 68,600 A13,720
o&dAH EEXNEH 54,880
J| 54,880

HAE AL &5 8,620,000 5,537,000 3,083,000
s 7,746,000
< 874,000

HAEANESS(20)(EE) 500,000 500,000 0
s 400,000
< 100,000

401 Al BIZ 201 8] 300,000 300,000 0
s 300,000

01 A& HI 300,000 300,000 0
OFAEANY &5 300,000
s 300,000

402 2I2H X201 M 200,000 200,000 0
s 100,000
< 100,000

03 BIZHR{EF AL HI 200,000 200,000 0
OFAEANLE &= JIs22 200,000
s 100,000
< 100,000

HiAGEANEEE(2D) 7,955,000 5,037,000 2,918,000
as 7,346,000
< 609,000

403 THXISHH S Xt =20l 7,955,000 5,037,000 2,918,000
s 7,346,000
< 609,000

01 X SHMA=2E X 7,955,000 5,037,000 2,918,000
OHAYANE &= 7,955,000
s 7,346,000
< 609,000

HFLAEANLES 165,000 0 165,000

403 XIS S X201 & 165,000 0 165,000
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el

VEEE-PNEPE
Dl M Bad 84
HAd AL 25

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

01 X SR =E S 165,000 0 165,000
OFAEFAESHZ AIE HES 165,000

HES2AAL(HEEAEIIZ ) 41,568 38,274 3,294

Jl=23tl 41,568 38,274 3,294

2AN2Y9 JI2&4l 41,568 38,274 3,294

201 et A | 27,168 26,034 1,134

01 AFR2 2t 2l dl 27,168 26,034 1,134
OBNdE&Y AIR22teld] 27,168

202 04| 10,800 8,640 2,160

01 2LHOHI 10,800 8,640 2,160
ORM2Y =Ll 10,800

203 & R =&H| 3,600 3,600 0

04 2SI L RF=AH| 3,600 3,600 0
©2092! 0] ot 3,600




